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TURAE TR T IREE 2 2 42 6 72 0 0 0 0 0 0 0 of 120 6 6 0 0 0 0 0
TUR R E (B2 TAREAMDRI R L 24 2 36 12 72 0 0 0 0 0 0 0 of 120 0 0 0 0 0 0 0
TUREARE TETIZHETEZ, 2 36 12 72 0 0 0 of o 0 0 of 120 0 0 0 0 0 0 0
TCRERE B TR 3 40 20 88 0 0 0 0 0 0 0 of 148 2 2 0 0 0 0 0
TTERE B ST 2, 2 42 6 72 0 0 0 0 0 0 0 of 120 2 2 0 0 0 0 0
TR RE HEIRE L - - - - - - - - - - - - - - - - - - - -
TUREKE B ERBE LR 1 18 6 36 0 0 0 0 0 0 0 0 60 2 2 0 0 0 0 0
TTERE EEREE LG T4 1 17 6 36 1 0 0 0 0 0 0 0 60 2 2 0 0 0 0 0
TCRKE BT 8| 133 31| 246 0 0 0 0 0 0 0 of 410 20 20 0 0 0 0 0
TR KE HBIEE X % 1 18 6 36 0 0 0 0 0 0 0 0 60 2 0 0 0 0 0 0
TORREE JEFISNEEE %1 1 20 3 27 0 0 0 0 0 0 0 0 50 1 1 0 0 0 0 0
TOR R B SRR R 2y 1 18 6 36 0 0 0 0 0 0 0 0 60 2 0 0 0 0 0 0
TCERE BB ST % 1 15 3 30 2 0 0 0 0 0 0 0 50 0 0 0 0 0 0 0
TURKE B TREZ 2 36 12 7 0 0 0 0 0 0 0 of 1200 6 0 0 0 0 0 0
TLEKE WA TRE 2 2 36 12 72 0 0 0 0 0 0 0 of 120 0 0 0 0 0 0 0
T ARE WETREL ] 18 6 36 0 0 0 0 0 0 0 0 60 0 0 0 0 0 0 0
TCEARE QEET 30| 525 147| 1003 3 0 0 0 0 0 0 o 1678 @ 45 35 0 0 0 0 0




